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Sentence Match Quiz for Category: present_tener 
Mark the sentence that matches each item below. 

1) Este tren tiene zona de fumadores y de no fumadores.
- A: This train station has 6 platforms.
- B: This train has a smoking area and a non-smoking area.
- C: Retired people have a special price, with a discount of 40%
- D: We have a wide offer of 3 and 4 stars hotels in the Canary Islands.

2) Esta estación de tren tiene sies andenes.
- A: This train station has 6 platforms.
- B: We have a wide offer of 3 and 4 stars hotels in the Canary Islands.
- C: This train has a smoking area and a non-smoking area.
- D: The museum shop has many interesting books about their own collections

3) Los jubilados tienen un precio especial, con un descuento del 40%
- A: This train has a smoking area and a non-smoking area.
- B: The museum shop has many interesting books about their own collections
- C: Retired people have a special price, with a discount of 40%
- D: This train station has 6 platforms.

4) La tienda del museo tiene muchos libros interesantes sobre la colección del propio museo.
- A: We have a wide offer of 3 and 4 stars hotels in the Canary Islands.
- B: This train has a smoking area and a non-smoking area.
- C: The museum shop has many interesting books about their own collections
- D: Retired people have a special price, with a discount of 40%

5) Tenemos una gran oferta de hoteles de 3 y 4 estrellas en las Islas Canarias.
- A: We have a wide offer of 3 and 4 stars hotels in the Canary Islands.
- B: This train station has 6 platforms.
- C: Retired people have a special price, with a discount of 40%
- D: This train has a smoking area and a non-smoking area.
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Answer Key for Worksheet 5947a

Sentence Match Quiz starting on page 1
1 = B , 2 = A , 3 = C , 4 = C , 5 = A


